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Number & Operation

Entire Grade-1 Review (!)

1 Write the numbers in the

1

2

3

4

5 The number that is ten groups of 10 is

6 The number 75 shows

2] Write the numbers in the

1

170

Ty

EERERRRREN

ERREN/

In the number 48, there are
ones.

In the number 62, there are

extr

a.

in the ones place.

There are

There are

blocks.

blocks.

groups of 10 and

groups of 10 and

in the tens place and

65166 H 69 1

3%+ H37H38 - 4l
— 95 7 96 98 1 100

50+ 7080 - 110
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3| Calculate the following.

1 5+3=
& 40+ 9 =
17 6—-5=
10 12 -8=

2 10+5=
5 12+ 4=
8 |7—2=
n 79 —9 =

9

12

3 8+5=

6 20+50 =
10 =7 =
100—60=

4 Answer the following questions. Write the math

sentences and find the answers.

1 | have 6 biscuits and my sister has 5 biscuits. How
many biscuits do we have altogether?

Math
sentence

Answer

biscuits

2 There are |2 eggs. My family used 9 of them. How
many eggs are left?

Math
sentence

Answer

€ggs

3 There are |5 children here. Among |5 children, 7 of
them are boys. How many girls are there?

Math
sentence

Answer

girls

& There are people lined up in a row. My father is the 5th
person from the front. There are 9 people behind him.
How many people are there altogether?

Math
sentence

Answer

Drawing a diagram makes it easier for you. Then count

how many people are there in front of “my father”.
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[ Entire Grade-1 Review (2)

1/ Sort out the following shapes to the same categories.

(a) (b) ()

(e) (f) (9)

and are family.

and are family.
%% and are Q family.
and are A family.

2| Circle the same shape.
1 2

(d)

(T () (9 )
[4)(s) (6] [+]
Blaale)
JJEE

ol[@e]m [=

Al O A

>

A

172
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3 Make different shapes using 4 pieces of k

4 Draw the following shapes by connecting the
lines.

3
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Entire Grade-1 Review (3)

[ ]

1 Circle the longer one.

1 A 2

. ] —
AJ Compare the two sides. Which one is longer?
(a)
(b)
%%% is longer.

QJ Compare the lengths.

(c) (b) is shorter than
(a) 5 -

‘ 7 is the shortest.

iJ There are containers with some water.
Which has the most?

(a) (b) (c)
ol -
174
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5 Compare the size of the four-sided shapes.
Circle the larger one.

6 Read the time.

Half past

o’clock

o’clock F
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[ Data Utilization ]

Entire Grade-1 Review (4)

1 Find out how many of each fruit and vegetable you have.

1 Tally them on the graph using a Q :

é“’ ‘,“f a/‘

J b e /¢

2 How many onions are there?

There are onions.

3 Which items are there the most of?

are the most.

176
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2| Find out how many of each item are in a shop.

Pen |[Notebook| Scissors Calculator

1 How many erasers are there?

There are erasers.

2 Which items are there the most of?

are the most.

3 Which items are there the least of?

is the least.

4 How many more notebooks are there than pen?

notebook.

177
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APPENDIX: Addition and Subtraction Problems

Practice the following addition problems.

L2+ 1 [ |3+ |4+ 1| [5+1][6+1|[7+1]]|8+1|]9+]
| + 2 2+ 2 3+ 2 4+ 2 5+ 2 6+ 2 7+ 2 8+ 2
| +3||2+3||3+3||4+3||5+3|[6+3||7+3
|+ 4| | 2+4||3+4]|4+4||5+4]]6+4
| +5 2+5 3+5 4+ 5 5+5
[ +6||2+6||3+6]||4+6
|+ 7| 2+7||3+7
| +8||2+8
| +9
Practice the following addition problems.
9+ 2
9+3||8+3
G+ 4| |8+4]||T7+4
9+5||8+5||7+5||6+5
9+6||8+6||7T+6||6+6]]|5+6
9+17 8+ 17 7T+ 7 6+ 7 5+ 7 4 + 17
9+8||8+8||7+8||6+8||5+8||4+8]|3+8
9+9||8+9||7+9||6+9]||56+9||4+9]||3+9]||2+79

178
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Practice the following subtraction problems.

2— | 33— 4 — | 5— | 6— | 7= 8 — | 9| 10 — |
3—-2 4 — 2 5-2 6—2 7 =2 8—2 9-2 10 — 2

4 —3 5-3 6—3 7—3 8—3 7-3 10 — 3

5—-4 6 — 4 7T —4 8 —4 9 -4 10 — 4

6—5 7—5 8—5 9-5 10 — 5

7—26 8—06 79-6 10 — 6

8—17 9 =17 10 =7

9-8|[10-8
10-9

Practice the following subtraction problems.

-2

1 —3][12-3

= 4| [12—4| 13-4

1 —5||12—56|[13=5||14—5

1 —6||12—6|[13=6||14—6||15-6

=T 12=T||I13=T| |14=T||I5=T||16—=17

1 —8||12—8|[13—8||14—8||15-8]|l6—8|]|I7—8

1 =9 |12—9|[13=9||14—9||[15—9||16=9|[17-9||I8—9
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